



The Five Year Plans


In the aftermath of the Russian Revolution and World War I, the weakened condition of the Soviet economy was clearly visible. Output in every economic sector had declined: agricultural output was well below pre-war levels; the availability of consumer goods had fallen dramatically; and industrial output faced a long, slow path to recovery.   


During the early to mid-1920s, Soviet leaders engaged in a great deal of internal debate about the relative importance of peasant owned and controlled agriculture on the one hand and state-run industry on the other. The essential question concerned the best path to economic growth: Was economic growth – national wealth and prosperity – best achieved through growth of private farms and the agricultural sector or was it best achieved through state-directed investment in industry? Soviet leaders clearly felt that they could not pursue both and that a choice would have to be made.   


The Five Year Plan called for investing in industry by limiting the resources available for the production of consumer goods and the farm sector and directing those resources to the production of such industrial essentials as steel and electricity. For this to be accomplished, the profits from agricultural would have to be used for investment in industry, and satisfying citizens’ desires for consumer goods and housing would have to be delayed. The alternative was to encourage the use of resources to satisfy the immediate desires of citizens for food and other agricultural and consumer goods. This would mean delaying investment in the capital necessary for heavy industry and future industrial strength.   





Name:_______________________





Given the alternatives and the benefits of each, as they were considered at the time, do you think the leaders made the right choice? Why?   (Use back)





Assessment:  Space Race


As the Cold War developed and escalated into the 1960s, leaders of the Soviet Union continued to face the choice of how to use resources to promote their goals. The initial choice to invest heavily in capital goods and military strength was coupled with a desire to wage a propaganda war – to show the rest of the world the prowess of the communist system. The Soviets wanted a showcase, both for their own citizens – to show them that the system was producing advancement and glory, and for the rest of the world. In the late 1950s and early 1960s, the Soviet Union faced the choice of making a huge investment in space technology, space exploration and science, diverting even more investment from the production of housing and consumer goods. This choice to pursue applied science in the area of space technology was apparently motivated by both the hope of using space superiority for military purposes and the desire to showcase the scientific genius of the Soviet Union by defeating the West in the space race. While military prowess could produce the same result, superiority would only be apparent in war, something the USSR wanted to avoid. Space exploration offered them the opportunity to be an undisputed international “winner,” without the debilitating costs of war.


1. Consider the alternatives: invest in space technology or increase investment in housing and consumer goods


2. What were the benefits of each choice?
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Opportunity Cost: USSR








3. What was the opportunity cost of the choice made to pursue space exploration?





4. Evaluate the Soviets’ choice in terms of costs and benefits: was it the best choice at the time?


Did the choice to divert investment into space technology seem to have serious military and/or industrial consequences?





5. Did they accurately assess the costs and benefits?


6. Who benefited and who bore the costs?
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7. One of the chief jobs of economists is to analyze choices and predict the decisions people will make.   After all, consumers are assumed to be rational agents who will never take an action for which the expected benefits are less than the expected costs. Economists are also supposed to predict unintended consequences of a decision.  What unintended consequences should economists in the USSR have predicted from their policy choices in these cases? 









